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Candidate:
Telescope:

Epoch

sample
Data Folded

Data Avg

Data StdDev
Profile Bins
Profile Avg
Profile StdDev

topo

Epochbary = 55459.99416819855

1.88Hz_Cand RA 2000 =

Best Fit Parameters
Reduced x = 2.687
D|sperS|on Measure (DM; pc/cm®) = 704.432

Arecibo
= 55459.99151618718

Search Information

19:10:54.8790 DEC 2000

P(N0|se) < 3.16e—17

= 10:28:20.9925

(~8.40)

= 6.5476e-05 topo (ms) = 531.564(10) bqry (ms) = 531.523(10) 7
= 3909120 topo (s/s) —3.5(3.0)x1 0™’ bqry (s/s) —3.5(3.0)x10~

= B8.253e+04 topo (s/s ) = 0.0(7. 6)x10 bqry (s/s ) = 0.0(7. 6)x1O
= 456.2 Binary Parameters

= 100 P () = N/A e = N/A

= 3.223e+09 a,sin(i)/c (s) = N/A w (rad) = N/A

= 9.02e+04 Tperi = N/A

4bit—p2030.20100920.G44.43+00.43.S.b1g0_0001 .fits
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